


Exercise Part 1











1.	Given the case study "Telephone Installation Manager", Part 1, you shall identify the 4 problems exposed in the case, their probable causes, and the Value (V) of solving them completely.





2.	When you have finished this, you will be given Part 2 of the case study.  You will be asked to propose solutions and to estimate the adjusted value, completing columns 4 to 6 on Form 2.





3.	When Part 2 is completed successfully, you will be asked to do Part 3 of the case study.  This section will ask you to calculate the Worth of the proposed solutions and to assign a priority to each of them (columns 7 to 10 on Form 2).





N.B.	Upon completion of each part of the case study, contact your WS administrator who will give you the answer to that part of the exercise.














THE TELEPHONE INSTALLATION MANAGER





		John Bright was sitting at his desk, contemplating the next year's training programme, when the telephone rang.  It jarred him out of his reverie, because he was deep in thought about how the programme could be improved.  It had gone well this year; the current courses were up to date and results seemed to be favourable.  He had even had some success in getting field managers to think in performance systems terms instead of blaming all their problems on training deficiencies.





		"Hello John, this is Sam Davis speaking; how are things?"  Sam was a District Manager who had recently been moved in from Engineering.  His district seemed to have had some difficulties lately.





		"Fine Sam, how goes the new job?"





		"Well it could be better, that's why I'm calling this morning."





		"Oh?  Glad to help if I can, what seems to be the problem."            





		"Well, we have some real problems in job quality and productivity, although I can't say that they result from training.  In talking to Mr. Hooper the other day, he said that you had some new techniques in analyzing this kind of problem.  Can you help me out?"





		


		John paused, looking at his appointment calendar.  "I'd be glad to.  Can you fill me in a bit?  What do you see that tells you you have a problem?" 





		"The most obvious thing is that I see a lot of reports of repeat visits by installers and repair calls in the first month after an installation in one area where we are installing a new type of terminal."





		"How many of these?"





		"Well, the repeat visits have been running 40%.  That amounts to about 75 to 80 per month, at 1,000 repeat visits per year, each consuming 20 minutes on the average."





		The major problem, though, is productivity.  This affects our whole group of 100 installers.  Our record has not been good.





		"I'd like to come and see myself.  Could you show me some examples?"





		"Sure, why not come over on Wednesday?  I am going on an inspection tour with one of my supervisors.  We can take you along and spend the whole day."





		"Right.  See you on Wednesday, at the garage?"





		"Yes, at 07:30 if you can make it.  See you then."


		


		On Wednesday morning, on the way to their first stop, Sam gave John some figures about his district.  "We cover a large suburban area.  We have 100 installers who make a total of 200,000 installations in a year.  Since our labour rate with overhead and vehicle and tool expense is $12 an hour, you can see how important productivity is."





		John also looked at a productivity chart which showed that their productivity had been steadily but slowly declining over the past year.  The average was now at 9.0 work units per hour, although the top 10% were much higher -- about 11.2.





		"If we could get our average of 9.0 up to, say 11.0, we could save a lot of money."





		"Would this mean lay-offs if you did?"





		"No, it means we would not have to hire and train additional people to handle the larger load we have forecasted."





		"I see.  Then the men themselves have no reason to oppose the higher figures?"





		


		"None that I can see; and the fact that 10% of them are making 11 or more work units per hour shows that this is not unreasonable."





		They arrived at a residence at which a telephone installation was in progress.  They stood outside for a moment, inspecting the drop wire installation which was quite satisfactory.  During this time, the installer who was now working inside the house, made 2 return trips to the truck.





		"That is one of our most serious causes of loss of productivity" said Sam, "poor job planning."





		They make too many trips to the house; one should do.  Then they don't plan their routes to save back-tracking between jobs.  If we could get rid of this, we could get each installer to do 10 orders a day instead of 7 or 8.  That means increasing our work unit measurement by as much as 2 points.  That would be the equivalent of 1 hour gained per installer and day.





		John knew that the training course taught job planning and he wondered what was causing this lapse.





		"How many jobs do you assign each man?"





		"A full load is 8 residence installations, but the work varies with the type of job." 





		"What happens if he doesn't finish his load?"





		"One of two things happens:  he works overtime, or we send someone else to help him finish."





		"And if he finishes early?  You send him to help someone else, I suppose?" 





		"Right, it takes careful dispatching and team work between the men." 











		They arrived at another job and inspected it from start to finish.  It looked good, and then Sam routinely removed the carbon blocks from the station protector in the basement.  They were covered with a fine dust.





		Sam was annoyed.  "You see this dust?  In another month or less, these blocks could ground and we have a subscriber out of service.  We get too many of these cases -- about 20% of our reconnects, of which we have about 80,000 a year.  We have to send a repairman, and each visit takes at least 15 minutes.  You can imagine what that costs."





		"Does he know how to clean them and when?"








		"Of course he does.  They just try to get away with as much as possible.  The foreman picks this up once in a while and reads the riot act to his whole group, but they get sloppy again." 





		"Does he know what happens if the carbon blocks are dirty?" 





		"Well, I never thought of that.  Maybe not, as a matter of fact."





		John decided to check this out.  Later in the week he took a random sample of installers and tested them on this point.  90% of them did it without prompting, and all knew how to clean the protector blocks.











		Later in the afternoon they came upon an installer up a pole at a terminal, apparently just sitting, not too comfortably at that.





		"Look at this!"  He waved his service order at them.  The space for assignment of cable pair was blank.  The words "call for assignment" had been penciled in.





		"I've been waiting half an hour," he explained, "while they make up their minds in the assignment."





		"This is too prevalent, I'm afraid," explained Sam.  "We have at least 1% of these cases, and we should not have any.  It seems as if the clerks have great difficulties in completing the form properly." 





		John did some lightning calculations.  1% of 200,000 orders was 2,000 cases; at one-half hour each; at $12 an hour -- whew!








		On the way back, they passed a large housing development which had all concealed telephone plant using a new type of terminal.  It was in these terminals, Sam pointed out, that installers were making wrong connections, reversing the polarity of the pairs and thus causing errors in the automatic number identification on long distance calls.  "This was the problem I described over the phone," Sam explained, "the one where we are getting 40% error and having to rectify the errors.  Thank goodness these new terminals are restricted to this area." 





		As they headed back to Sam's office, John made a few notes and kept a copy of the service order he had seen.  Back in his own office, he looked up the practice on station protectors.








Your task:





		You are in John Bright's shoes.  What are the real causes of Sam's problems?  What will be the result to the telephone company if they are not fixed?





1.	Using Form 2, you should identify the 4 problems illustrated in the case -- in terms of symptoms;





2.	Suggest probable causes and indicate whether these are in the training process or in other subsystems;





3.	Calculate for each problem, the value of solving it completely.  Show how you made this calculation of Value in column 3.





Summary:  Complete columns 1, 2, and 3 on Form 2
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